
 

Sammie is thinking of number. 

 

 

 

What number is Sammie thinking of? 
 

Taran is thinking of a number. 

 

 

 
 

What number is Taran thinking of? 

 

KS2 Problem of the Day 

Wednesday 21st March 2018 

1 How many hundreds must be added to 
12,900 to make 13,000? 

How many tens must be added to 3,600 
to make 4,000? 

 

Gino has 72 stickers. 

Peter has 5 times as many stickers as 
Gino. 

Holly has half as many stickers as Peter. 

How many stickers do they have in 
total? 

 

 

3 

2 

The sum of 25% of 
my number and 75% 
of my number is 120 

The difference between 
2

5
 

of my number and 
1

10
 of 

my number is 18  


